[ number of missing inner layers |

[ number of missing outer layers |

- Entries 1170 1 —| Entries 1170
: Mean 0.5376 : Mean 2.766
N Std Dev 0.5735 i N Std Dev 2.988
. B B | 1 . B |
S
: Entries 1098 107 *TEnties 1098
- Mean 0.5874 F + | Mean 2.823
N Sld Dev 0.5821 L N Std Dev 3.068
: o Y I SR . DR N
: Enes 1098 10 E i [Entries 1098
' Mean 0.5874 F ' ' Mean 2.823
N Std Dev 0.5821 3 r + e N Std Dev 3.068
: L et e 10° e F N [ L
E : Entries 1098 o : : Entries 1098
r . Mean 0.5874 r . . Mean 2.823
_4 N Std Dev 0.5821 _4 N . |.Std Dev 3.068
107 eprr T 1077 e b N R T
_5 5 ‘_ .
10°F 10 e b :
010(3""""""""'" o | -
= Lo : : : :
g 1.2 ! L
11 : : : :
1= : d g . :
0.9 . . . . .
O 0. 5 l 1. 5 2 2. 5 3 3. 5 4 45 5 0 5 10 15 20 25
=a== DQM_CKF_S01TQCD
m——— DQM_mKFit_SoftQCD-updated
mean hif == DQM_mKkFit_SoftQCD-DNNsgcd100
= DOM_MKFit_SoftQCD-DNNalliters
— 40r —| Entries 1170
» F - »{ Mean 11.75
> o - et ceihea...idStd Dev 6.801
A 35F : : I
2 r 102 | : | Entries 1098
e 30 r F: Mean 12.33
v E E: Std Dev 5522
25:_ : — Entries 1098
r | Mean 12.33
= - = LStd Dev 5.522
20 : :
» Entries 1098
o 1 Mean 12.33
15 td Dev 5522
10
o +CE o <F
- - - r
@ E @ o
o % o 15 ---r--
LI F
1:—' S
0.9t o5b—0i
= 0 5 10 15 20 25 30 35 40
track n track hits
[ N of simulated tracks vs pT |
Entries 944137 Entries 1260
lo—l ..................... Mean 0.6729 Mean 1.513
Std Dev 0.6787 Std Dev 2.311
B | B |
- Entries 944253 Entries 1146
[T T U AN Mean 0.6729 Mean 1.514
E Std Dev 0.6787 Std Dev 2.746
F B T ) I S = R ]
[ Entries 944253 Emrles 1146
Y N TN SN S Mean 0.6729 Mean 1514
10 E Std Dev 0.6787 Std Dev 2.746
E . Pttt reetees
r Entries 944253 Entries 1146
_4 Mean 0.6729 Mean 1.514
10 2 Std Dev 0.6787 51(\ Dev 2.746
10°




	Contents
	Page 1


